(MZEE e»»d 000000000000002000070 Compact ModelLinar Guides vith Ball Retaner (fo General use)

w
4-M X &
H F
h
Ho
01290 LGSR-SO 000000
goooooo goooo go0ooCcoOoOooooo ooooo
H H, T, w L w [ L, F |Mx¢,| T h P G
LGSR15S 24 4.6 95| 34 | 404 | 26 u] 236 | 194 | M4x6 | 15 125 | 60 20
LGSR20S 28 6 11 42 | 472 | 32 u] 30 22 M5x 7 | 20 155 | 60 20
LGSR25S 33 7 125 | 48 | 596 | 35 u] 38 26 Méx 9 | 23 18 60 20
LGSR30S 42 9 16 60 | 67.4 | 40 ] 42 88} M8x 12| 28 | 23 80 20

gisoooooooon

oooooo ooooooooo
190 590 1q00 15‘00 2090
100 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
LGSR15S _
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
100 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
LGSR20S —_—
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
100 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
LGSR25S ]
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
120 280 440 600 760 920 1080 1240 1400 1560 1720 1880
LGSR30S _—

I
T T T T T T T T T T T T T T T T
200 360 520 680 840 1000 1160 1320 1480 1640 1800 1960

0000 | LGSR25S OCG 02 x1000

ooo

Eizh

196

(Lo)

ooooo
0ooopoooooon

|LS BEITY—2
CG PY—=2G)—R

VG HEJJ—R
HG miRyU—R
FG BRYI)—R

KT —ZDIERPLOS R



LGSR-S series qqe® (12

5 |

P |
G
goooo 0o000O0DOO0O0O0O ([booooo goooooooo goooo|ooo
C Co Mx My M, oo
Dx dx f Loimax ooag t. N DkNOOKNOD KkNOImOD kNOmOO kNOmO| Okgd [0 kg/mO
7.5x 4.5x 5.3 | 2000 03 6 3 6.8 9.0 0.04 0.03 0.03 1.4
9.5x 6 x 85| 3960 | M6x 0.75 | 5.5 11 9.7 13.2 0.08 0.05 0.05 2.3
11 x7 x9 3960 | M6x 0.75 | 7 11 15.7 22.8 0.16 0.12 0.10 3.1
11 x7 x9 4000 | M6x 0.75 | 8 11 21.9 29.6 0.28 0.17 0.15 4.8
B mm
goooooooo oogd
2590 3090 3590 40‘00 oooo
2000
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
—ttttttt 3960
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880
2929 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 2590 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 3190 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 3790 ‘ 38‘20 ‘ 39‘40
3960
‘ 2680 ‘ 22‘00 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 28‘00 ‘ 29‘20 ‘ 30‘40 ‘ 31‘60 ‘ 32‘80 ‘ 3460 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘30 ‘
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 { 4000

T — T T T T — T T T T — T T T
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880

197





